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= 1,795
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Al 4,213
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4 D12t ZE2EXNSEES 32,778 31,247 1,531
OZMUEEHMESE 2 84 KX2el 32,778
—Jlas 73,280 x60L x5H 21,984
—F=s=Y 73,2803 x 122 x5H 4,397
— Q| x=g 73,280 x3 «5H 1,100
—522fg 73,280%1.5+8 «5H 4,397
— 2hAlH| 3,000 x60 «5H 900
201 L2l 45,000 21,000 24,000
01 At 22l 13,500 10,000 3,500
Ogit=>gH| 10,000
— 22X+ |FA22 10,000
Oo2g+¢ 3,500
— A} HFHg 100,000 »7H x53] 3,500
02 3323l 31,500 11,000 20,500
O3 & HA 3,500
—JIRIB(4sU= 2 5) 2,500
— &5l (4sSL=R 2 3) 1,000
OAN & EH R XY 28,000
— U SAMHENLAY ANEE RA2e 28,000
206 T 2 bl 5,000 5,000 0
01 =8l 5,000 5,000 0
OZdMHUEHMESE 2 84 A2 5,000
207 AR H| 20,000 40,000 A 20,000
01 289 20,000 20,000 0
Od=sELUSI| 2HAE HE=E &9 20,000
301 getEd 3 5,000 5,000 0
09 SALAHIX A S 5,000 5,000 0
O2HAE A s & =4l 5,000




2N
X ZH -
L= B

el

O e =

M e e

o =

E

2K
I
=
sz

=

Wz n

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

401 AIEHIZ 2 I

130,000

150,

000

20,000

01 A& HI

130,000
130,000
130,000

150,

000

20,000

Z W

15,088,055
700,000
3,147,000
11,241,055

10,705,

863

4,382,192

O

1]

0z
z
S|
T
FA
0x

Z W

15,088,055
700,000
3,147,000
11,241,055

10,705,

863

4,382,192

FclH . A& SR 2

= M

327,000

65,000
262,000

,000

283,000

401 AIEBIZ 2 CHYI

Al

217,000

65,000
152,000

300,

000

A 83,000

01 Al&HI
O=2F X+ th===2 HHl(L=300m)

H

Al

217,000

217,000

65,000
162,000

300,

000

A83,000

12+

!

402 =20l ™

110,000

,000

o12tX
01 A2 AL E X (XA )
c

I =clAld sX2el (16600 4 )

T
A
e

O

110,000
110,000

,000

SClAIEHE S (S AY)

H

Al

2,290,000

1,969,000
321,000

1,390,

000

900,000

401 AIEBIZ 2 THEI

= H

700,000

602,000
98,000

1,390,

000

A 690,000

01 A€ HI

OdU &dEXF =clANEHE+

OLMXIF ==elAEHEx

H

Al

H

Al

700,000

100,000
86,000
14,000

600,000

516,000
84,000

1,390,

000

A 690,000

403 A X EHHS =0l A

= M

1,590,000

1,367,000
223,000

1,590,000

)
]
=2
2
ro
pa|
rt
Ja
40
Jp
>
©
(=S

O
ne
09
o> ol
1>
HU
4
o
>
X
T
1>

H

Al

1,590,000

1,590,000

1,367,000
223,000

1,590,000




2N
X ZH -
L= B

el
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= 903,000
Al 147,000
401 AIEBIL 2 CHEI 1,050,000 250,000 800,000
< 903,000
Al 147,000
01 A€ dl 1,050,000 250,000 800,000
OUMIF A2 == 1,050,000
< 903,000
Al 147,000
NS B2 (MEAY) 1,000,000 1,000,000 0
401 AIEHI YL 2CHYI 1,000,000 1,000,000 0
01 AlZHI 1,000,000 1,000,000 0
OJAHSIHZ HELY (RS, 48, &2, &
) 1,000,000
HFD|E S (MEAY) 1,000,000 1,000,000 0
401 AIEBI L 2CHEI 1,000,000 1,000,000 0
01 A€ dl 1,000,000 1,000,000 0
OFFoletats(Med, 4gd) 1,000,000
22l AL 22 7,871,055 6,415,863 1,455,192
101 @124 H] 195,415 173,303 22,112
04 DIt 22 XS+ 195,415 173,303 22,112
Oti=& 2¢l 195,415
—Jl2= 73,2803 «152& 12 133,663
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— X 73,2803 x72 12 6,156
-2 73,2803 «1.5+182 12 23,743
— 2tAH| 3,000& »152 x12&H 5,472
201 Yet2 | 281,640 280,760 880
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— 2di=& HIIEHIHEINBA ==2(60H ) 4,000
— S I M BRI =2 (13HL) 47,000
— =2 HIIEHl A =5 (30HA) 10,000
Oul=Hl 2,400
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N 3IN2SHUSEAHAE ALY 423,000 20,000 403,000
OB =& M Il Heldl (2200 A, 110E) 30,000
Osdtds HE2E 832 56,000
OSHE HEE 832 36,000
ORdEsE HE2E 832 20,000
OlIdE HEE 8232 36,000
OYLAE HEE B2+3=2 245,000

401 Al HI YL 2 0HHI 5,140,000 4,549,000 591,000

01 A& HI 5,130,000 4,539,000 591,000
O&st==2 Hd|(L=300m) 100,000
QUEE =2 HH|(L=180m) 90,000
Ozt =2 =2 A4l (L=220m) 100,000
OIIAE =2 HH|(L=250m) 150,000
O 84X Hyl(14!) 30,000
O2484=s2 =& (L=300m) 50,000
OItAd 242 &EH|(L=230m) 70,000
OMEU =2 =l (L=100m) 50,000
OAEE =2 = H|(L=150m) 80,000
OF2 22 =l (L=170m) 90,000
O=sttil =2 = | (L=280m) 80,000
OUHe4=2 &l (L=280m) 90,000
O2==2 &Hdl(L=150m) 60,000
OKAHI4=2 &l (L=80m) 50,000
Ouslorz42 A (L=200m) 50,000
OBIXNE =2 EHI(L=1.4km) 100,000
OYE b2 22 HH|(L=800m) 100,000
OLC= 22 =l (L=200m) 70,000
OUI =2 =l (L=180m) 90,000
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OYHEW22 =l (L=150m) 80,000
Og"elAsX Hl(14l) 30,000
OL21#=2 =t (L=200m) 100,000
OZXAM=sZ2 Al (L=200m) 90,000
Qo242 A (L=260m) 100,000
o242 EHl(L=130m) 40,000
Os=242 HH|(L=100m) 30,000
Q&0 B2 A H|(L=150m) 80,000
HEZ422 Al (L=140m) 80,000
Of&t#=2 =l (L=150m) 80,000
Oetgl£=2 Al (L=230m) 60,000
OsZTE242 HH|(L=200m) 50,000
OJt=E812&=2 &FH|(L=120m) 70,000
QE2E =2 HH|(L=120m) 70,000
OCrdl =2 &l (14)) 30,000
ASHI=2 EHHl(L=110m) 50,000
O=2&842 &FH|(L=240m) 70,000
OUE 242 HH|(L=240m) 70,000
OEXE42 =H|(L=380m) 90,000
OnY=E42 Al (L=230m) 70,000
O%==2 HdI(L=170m) 80,000
oet=2g42 H|(L=300m) 80,000
OEgrE42 A (L=80m) 30,000
Ogate AH|(L=70m) 300,000
OiE=2 A& W& (12J0HA) 770,000
— Hi =2 glae AX 70,000
—Hi=& W CCTV &X 20,000
— ==& JISIIEAH 4 80,000
— B =& AlE HHI(20HA) 600,000
OsgIIBAIAE 2188 & X222 400,000
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CEMX BLZA E B 600,000
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Ok=s sg& 3323 2z2g 100,000
O=sgIIEtAIE AGE 2l AlIAE 25 200,000
OsgIIEtAlE 2 Xl&2ldl (A=6,396ha) 700,000
OZLE Ex=Z2SAE KA 22 43,000
OotdE A=E E=3= 14,000
OSdsE HAESE =3 14,000
OLHEHE A=SE E=32 20,000
Oltdts ASE 3= 14,000
OAL MR =2 Hul(==HMH & Hal) 30,000
ool CH = = & 100,000 60,000 40,000
201 Let24d] 100,000 60,000 40,000
01 At 22l 100,000 60,000 40,000
Oogxtz 100,000
— StGHOH 2 L 2lAlE 2S2+=ZHl 100,000
M=K EZHX AL 50,000 50,000 0
308 XXIEHHSOIA 30,000 50,000 220,000
1 3I2SO0IHetE & X 2 E A I 30,000 50,000 220,000
OMUM=X EZHX HHAEL2Y 30,000
403 XX A S K201 & 20,000 0 20,000
02 SO 2SOl CHSH A2 X 2| A I 20,000 0 20,000
ONMUM=X EZHX HAHAEL2IE 20,000
HolFAE XS HH (FAEH2=XI) 1,400,000 130,000 1,270,000
= 700,000
< 210,000
Al 490,000
401 Al I 28I 1,400,000 130,000 1,270,000
= 700,000
< 210,000
Al 490,000
01 A& HI 1,400,000 130,000 1,270,000
OSEM=X &l 600,000
= 300,000
< 90,000
Al 210,000
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O#&0t2 M& HHl(L=50m) 50,000
OHs&0tE M & &4l (L=50m) 50,000
=30t =2 A8l (L=200m) 60,000
OZ40t2 M& Hul(L=45m) 60,000
S50t2 =2 Jul(L=45m) 60,000
OHEOIE 2 HUl(L=15m) 60,000
OE8d0ts otz FHl(L=60m) 40,000
Os=0t2 o2 Ful(L=60m) 30,000
Ao (stes) 530,000 470,000 60,000
401 Al BIZ 201 8] 530,000 470,000 60,000
01 A& HI 530,000 470,000 60,000
OAls 118 ok X H| (L=400m) 40,000
OUAOIE =2 Abl(L=100m) 30,000
O240t2 =2 &l (L=50m) 40,000
Ood®OtE2 =2 Al (L=200m) 60,000
Ooteis<gotg th==2 &4l (L=100m) 50,000
OBg0tE M& Hul(L=200m) 70,000
BHAbZEW F OFAU2E A X (L=200m) 60,000
OEAOtE otz HHl(L=100m) 50,000
O&=E0tE &2 =& (L=100m) 40,000
Ogd&AA &Hdl(L=100m) 60,000
OWat==2 FHI(1-100m) 30,000
NS (R=H) 530,000 470,000 60,000
401 Al& I & 28I 530,000 470,000 60,000
01 A& HI 530,000 470,000 60,000
TYsE =2 HbBI(L=80m) 50,000
OEZOE =2 Hul(L=110m) 70,000
OXMIEZOIE M&E Hdl(L=55m) 90,000
EIZ20t2 th=2 &8I (L=180m) 80,000
fA0ts ok FHI(L=180m) 60,000
OXls0tg ot I & (L=360m) 40,000
Og8xotsg ot EE(L=1,350m) 70,000




HEPNR:W/ B= g
M FHAX N
HIPNRSD/ B=

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OXMEDE =2 HHl(L=215m) 70,000
Nehg(4se) 530,000 470,000 60,000
401 Al B2 2B 530,000 470,000 60,000
01 A& HI 530,000 470,000 60,000
OZ=MA &l (L=120m) 70,000
O2=0t2 ti#+=2 &dl(L=20m) 40,000
ODF M &dl(L=20m) 70,000
O0=0t2 HM& Fbl(L=20m) 70,000
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O2F 0t ot & FH(L=20m) 60,000
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RS (arelH) 530,000 470,000 60,000
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01 A& HI 530,000 470,000 60,000
Ogotote o2 Abl(L=1,600m) 70,000
O==0t2 M& Adl(L=40m) 60,000
OCt1elotg er FHI(L=500m) 60,000
Ou =0t o2 Al (L=300m) 60,000
O=&0t2 =2 Al (L=200m) 60,000
O==0t2 =& FHl(L=200m) 80,000
Oggitg =2 Al (L=50m) 40,000
OJlglorg otz Aul(L=70m) 40,000
OgatotE ok &l (L=350m) 30,000
OC=E0E2 M& Al (L=50m) 30,000
KSR (ALHE) 530,000 470,000 60,000
401 Al BIZ 201 8I 530,000 470,000 60,000
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OZE0IE2 =2 =X &(L=340m) 100,000
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Otls=s2 &dl(L=120m) 60,000
OJI&h Awe TILE (L=10m) 60,000
OSA&0tE A& Fl(L=100m) 70,000
O"Eeliots M& Al (L=100m) 60,000
O&N&EIOIE &=z FHl(L=100m) 50,000
OQlatorE =2 Al (L=60m) 30,000
NSHL(=sdH) 530,000 470,000 60,000
401 Al Bl & 28I 530,000 470,000 60,000
01 A& HI 530,000 470,000 60,000
ou=0t2 o2 Al (L=450m) 40,000
OY¥I0orE ot HHl(L=450m) 40,000
OAlels M& &bl (L=45m) 40,000
OXtors otz &l (L=80m) 50,000
O4etgtg 222 Al (L=60m) 40,000
O=g0t2 M& Hul(L60m) 50,000
OZUior2 M& Ful(L=150m) 120,000
Os20t2 =2 &l (L=70m) 50,000
OZMOIE =2 HHl(L=250m) 70,000
&0t M& FbBl(L=70m) 30,000
KSR (RorH) 530,000 470,000 60,000
401 A& BIZ 201 8] 530,000 470,000 60,000
01 A& HI 530,000 470,000 60,000




A XS0
M FHX pe
¢ X

SA BB O () - MM - HES il
OB S H& &dl(L=95m) 90,000
Ogd0r2 M& Aul(L=95m) 50,000
O=&0t2 M& Hul(L=60m) 30,000
Ost=0t2 =& &l (L=55m) 50,000
OstSM& &4l (L=50m) 50,000
O2s0t2 M& Aul(L=40m) 40,000
OS40tE M& &l (L=80m) 40,000
Odly 2wg AX(L=48m) 80,000
O= 40t or2 Hdl(L=1,000m) 40,000
Od2d A& &dl(L=80m) 30,000
O&E(2=3)M& ZHl(L=700m) 30,000
NEHL(HEH) 530,000 60,000
401 AIEHIZ 28I 530,000 60,000
01 A& Bl 530,000 60,000
OZX0otE HM& Ful(L=120m) 90,000
OLEIOHE M& HbBI(L=130m) 100,000
OU=E0tE MA FHl(L=50m) 70,000
OPolA0rE =2 &dl(L=160m) 70,000
OZ&0r2 =2 &l (L=90m) 60,000
OSF=30lAd0tsS etz Hul(L=120m) 60,000
OggorE 42 &dl(L=150m) 50,000
O2J10t2 M& &bl (L=50m) 30,000
Xelg (Hes) 30,000 ,000
401 Al B2 2B 30,000 ,000
01 A& HI 30,000 ,000
Ogg2s == &l 30,000
AN (ot=s) 120,000 ,000
401 Al HIZ 2 OHHI 120,000 ,000
01 A& HI 120,000 ,000
Ogolal ti== bl (L=100m) 80,000
OodxZs =2 Al (L=50m) 40,000
AR2xE 1,123,000 ,000
201 L2l 43,000 ,000
01 At 2t 2|l 42,000 ,000
Ogit=>gH| 10,000
—MNREES 7Y 10,000
Ogs&Ae 24 4,000
— =24 ¥ 2AHES ¥ 2,000
— s = 8,000& 25 x10H 2,000
ogxtz 28,000
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IR/ R=gn);
ForXl e
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
— Mo AFE CHHI (HI S H ot )& Bl SR

700,000& =40CH 28,000

02 =224l 1,000 1,000 0
OX=HAMX AMEZ=7EE 93 1,000

401 AIEHI L 2 CHYI 1,080,000 380,000 700,000

01 A& HI 1,070,000 370,000 700,000
O& A& AHI 200,000
OX &= | 70,000
OAREAE RA2e 300,000
OLAZAE HE= 300,000
OARE S3AE dx=XA Y 200,000

03 Al 2 THHI 10,000 10,000 0
OAnE NYHg 2e| 10,000

LA (XS IHL D) 74,760 0 74,760

Jl= &3l 74,760 0 74,760

Jl=dl 74,760 0 74,760

201 Let24d] 22,704 0 22,704

01 At 22l 22,704 0 22,704
ORNE2Y Jl=ZHl 22,704

202 oddl 48,456 0 48,456

01 = LH o4 1 48,456 0 48,456
O=UW0 bl 48,456

203 YR =] 3,600 0 3,600

04 EA2IYRFLH| 3,600 0 3,600
ORNMYRF=TH 3,600




